

# Sun's Binomial Inversion Formulae, Euler's Operator, and Z-Transform

## Fórmulas de Inversión Binomial de Sun, Operador de Euler y Transformada Z

R. Sivaraman<sup>\*1</sup>, J. D. Bulnes<sup>+2</sup>, Laid Elkhiri<sup>-3</sup>, J. López-Bonilla<sup>#4</sup>

\* Department of Mathematics, Dwaraka Doss Goverdhan Doss Vaishnav College, Chennai 600 106, Tamil Nadu, India

+Departamento de Ciências Exatas e Tecnologia, Universidade Federal do Amapá, Rod. Juscelino Kubitschek, Jardim Marco Zero, 68903-419, Macapá, AP, Brasil

-Department of Material Sciences, RECITS Laboratory, Tiaret University, Algeria

#ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

**Abstract.** We exhibit the participation of Euler's operator in the Sun's binomial inversion formulae and we use the Z-transform to give elementary proofs of such formulae.

**Keywords.** Binomial inversion formula; Euler's operator; Z-transform.

**Resumen.** Mostramos la participación del operador de Euler en las fórmulas de inversión binomial de Sun y utilizamos la transformada Z para proporcionar pruebas elementales de dichas fórmulas. .

**Palabras Claves.** Fórmula de inversión binomial; Operador de Euler; Transformada Z.

**How cite.** R. Sivaraman, J. D. Bulnes, Laid Elkhiri and J. López-Bonilla, Sun's Binomial Inversion Formulae, Euler's Operator, and Z-Transform. *Jou. Cie. Ing.*, vol. 16, no. 2, pp. 9-14, 2024. doi:10.46571/JCI.2024.2.2

**Received:** 10/07/2024    **Reviewed:** 23/09/2024    **Accepted:** 10/10/2024

<sup>1</sup> e-mail: [rsivaraman1729@yahoo.co.in](mailto:rsivaraman1729@yahoo.co.in)

<sup>2</sup> e-mail: [bulnes@unifap.br](mailto:bulnes@unifap.br)

<sup>3</sup> e-mail: [laid@univ-tiaret.dz](mailto:laid@univ-tiaret.dz)

<sup>4</sup> e-mail: [jlopezb@ipn.mx](mailto:jlopezb@ipn.mx)

**1. Introduction**

The generating function for the Bernoulli numbers is given by [1–4]:

$$\sum_{n=0}^{\infty} B_n \frac{t^n}{n!} = \frac{t}{e^t - 1} \tag{1}$$

which, for  $t = \frac{1}{z}$ , gives the following Z-transform [5–7] for the sequence  $\{B_0 0!, B_1 1!, B_2 2!, \dots\}$ :

$$\frac{1}{z} \left( e^{1/z} - 1 \right)^{-1} = Z \left\{ B_n \frac{n!}{n!} \right\} \tag{2}$$

In Sec. 2, we determine the sequence  $Q_n \frac{n!}{n!}$  such that:

$$\left( e^{1/z} - \lambda \right)^{-1} = Z \left\{ Q_n \frac{n!}{n!} \right\}, \quad \lambda \neq 1 \tag{3}$$

In Sec. 3, we use these relations to deduce Sun's binomial inversion formulae [8–10].

The Sec. 4 considers the case  $\lambda = -1$ , and it is proven that the corresponding  $Q_k$  can be written in terms of Bernoulli numbers. Sec. 5, for  $\lambda \neq 1$ , shows the connection between  $Q_m$  and Euler's operator [11, 12] via Grünert's operational formula [2, 12, 13].

**2. Construction of the quantities  $Q_n$  with the property (3)**

It is evident from the identity:

$$\frac{1}{z} \left( e^{1/z} - 1 \right)^{-1} - \frac{1}{z} \left( e^{1/z} - \lambda \right)^{-1} = (1 - \lambda) \frac{1}{z} \left( e^{1/z} - 1 \right)^{-1} \cdot \left( e^{1/z} - \lambda \right)^{-1} \tag{4}$$

where we can apply  $Z^{-1}$  to (2) and (3) to deduce the recurrence relation:

$$B_n - nQ_{n-1} = (1 - \lambda) \sum_{k=0}^n \binom{n}{k} Q_k B_{n-k}, \quad n \geq 0 \tag{5}$$

For  $n = 0$ , this implies the value:  $Q_0 = (1 - \lambda)^{-1}$ . The expression (5) is equivalent to:

$$nQ_{n-1} = - (1 - \lambda) \sum_{k=1}^n \binom{n}{k} Q_k B_{n-k}, \quad n \geq 1 \tag{6}$$

This allows determining the quantities  $Q_m$ . For example:

$$Q_1 = -\frac{1}{1 - \lambda^2}, \quad Q_2 = \frac{1 + \lambda}{1 - \lambda^3}, \quad Q_3 = -\frac{\lambda^2 + 4\lambda + 1}{1 - \lambda^4}, \dots \tag{7}$$

If we recall the property [1]:

$$\frac{n}{j} S_{n-1}^{[j-1]} = \sum_{k=j}^n \binom{n}{k} S_k^{[j]} B_{n-k}, \quad 1 \leq j \leq n \tag{8}$$

involving the Stirling numbers of the second kind [1–3], then it is easy to obtain the following explicit solution of (6):

$$Q_n = \sum_{j=0}^n \frac{(-1)^j j!}{(1 - \lambda)^{j+1}} S_n^{[j]}, \quad n \geq 0, \lambda \neq 1, \tag{9}$$

this is in agreement with the values of  $Q_1, Q_2$ , and  $Q_3$  obtained earlier. Hence, from (3) and (9):

$$Z \left\{ \frac{1}{n!} \sum_{j=0}^n \frac{(-1)^j j!}{(1 - \lambda)^{j+1}} S_n^{[j]} \right\} = \left( e^{1/z} - \lambda \right)^{-1} \tag{10}$$

**3. Sun's binomial inversion formulae**

If we consider the binomial expression:

$$F_n = \sum_{k=0}^n \binom{n}{k} f_k - \lambda f_n, \quad n \geq 0 \tag{11}$$

then Sun [8–10] obtained the corresponding inversion formulae:

$$f_n = \frac{1}{n+1} \sum_{k=0}^{n+1} \binom{n+1}{k} F_k B_{n+1-k}, \quad \lambda = 1 \tag{12}$$

$$f_n = - \sum_{m=0}^n \binom{n}{m} F_m \sum_{k=0}^{n-m} \frac{k!}{(1-\lambda)^{k+1}} S_{n-m}[k], \quad \lambda \neq 1; \tag{13}$$

with the results deduced in Sec. 2 we can give elementary proofs of (12) and (13) in fact from (11) for the case  $\lambda = 1$ :

$$F_n = \sum_{k=0}^n \binom{n}{k} f_k - f_n \quad \therefore \quad F_0 = 0 \tag{14}$$

where we apply the Z-transform to obtain:

$$Z \left\{ \frac{F(n)}{n!} \right\} = Z \left\{ \frac{F(n)}{n!} \right\} Z \left\{ \frac{1}{n!} - 1 \right\} = Z \left\{ \frac{1}{n!} \right\} = e^{1/z} \tag{15}$$

then:

$$Z \left\{ \frac{f(n)}{n!} \right\} = \left( e^{\frac{1}{z}} - 1 \right)^{-1} Z \left\{ \frac{F(n)}{n!} \right\} \stackrel{(2)}{=} z Z \left\{ \frac{B_n}{n!} \right\} Z \left\{ \frac{F(n)}{n!} \right\}, \tag{16}$$

such that:

$$z Z \left\{ \frac{F(n)}{n!} \right\} = z \left( \frac{F_1}{1!z} + \frac{F_2}{2!z^2} + \frac{F_3}{3!z^3} + \dots \right) = Z \left\{ \frac{F(n+1)}{(n+1)!} \right\}, \tag{17}$$

hence (16) implies the binomial transform:  $f(n)n! = \sum_{k=0}^n \frac{F(k+1)}{(k+1)! \frac{B_{n-k}}{(n-k)!}}$

which is equivalent to (12), q.e.d.

The Z-transform of (11) for the case  $\lambda \neq 1$  gives the relation:

$$Z \left\{ \frac{F(n)}{n!} \right\} = Z \{ f_n n! \} Z \left\{ \frac{1}{n!} - \lambda \right\} = e^{1/z-\lambda} Z \{ f_n n! \}$$

therefore:

$$Z \{ f(n)n! \} = \left( e^{1/z-\lambda} \right)^{-1} Z \{ F_n n! \}$$

which implies (13) q.e.d.

**Remark 1**

We can exhibit an alternative proof of (12). In fact, we know the relation [14]:

$$\sum_{k=m}^n \binom{n}{k} \binom{k}{m} B_{n-k} = \binom{n}{m} (B_{n-m} + \delta_{n-m,1}), \quad n \geq m \geq 0 \tag{18}$$

Thus:

$$\sum_{m=0}^n \sum_{k=m}^n \binom{n}{k} \binom{k}{m} B_{n-k} f(m) = \sum_{m=0}^n \binom{n}{m} B_{n-m} f(m) + \binom{n}{n-1} f(n-1)$$

Therefore:

$$nf(n-1) = \sum_{k=0}^n \binom{n}{k} \left[ \sum_{m=0}^k \binom{k}{m} f(m) - f(k) \right] B_{n-k},$$

in agreement with (11) and (12) for  $\lambda = 1$ .

**4.  $Q_n$  for  $\lambda = -1$**

From (11) and (13) with  $\lambda = -1$ :

$$F(n) = \sum_{k=0}^n \binom{n}{k} f(k) + f(n), \quad Q_n = \sum_{j=0}^n \frac{(-1)^j j!}{2^{j+1}} S_n^{[j]}, \tag{19}$$

besides we know the relation [2, 15, 16]:

$$B_{n+1} = \frac{n+1}{1-2^{n+1}} \sum_{j=0}^n \frac{(-1)^j j!}{2^{j+1}} S_n^{[j]} \tag{20}$$

therefore:

$$Q_n = \frac{1-2^{n+1}}{n+1} B_{n+1}, \quad Q_{2m} = 0, \quad m \geq 1, \quad f(n) = \sum_{j=0}^n \binom{n}{j} \frac{1-2^{n+1-j}}{n+1-j} F(j) B_{n+1-j}, \tag{21}$$

which gives the following Z-transform [17]:

$$Z \left\{ \frac{1-2^{n+1}}{(n+1)!} B_{n+1} \right\} = (e^{1/z} + 1)^{-1}. \tag{22}$$

**5.  $Q_n$  in terms of the Euler operator for  $\lambda \neq 1$**

Grünert's formula [2, 12, 13] is given by:

$$\left( x \frac{d}{dx} \right)^n g(x) = \sum_{j=0}^n x^j S_n^{[j]} g^{(j)}(x) \tag{23}$$

for the Euler operator  $x \frac{d}{dx}$  [11, 12], which can be applied to the function:

$$g(x) = \frac{1}{x-\lambda}, \quad \therefore g^{(j)}(1) = \frac{(-1)^j j!}{(1-\lambda)^{j+1}}, \tag{24}$$

Then (13), (23), and (24) imply the interesting relationship:

$$Q_n = \sum_{j=0}^n S_n^{[j]} g^{(j)}(1) = \left[ \left( x \frac{d}{dx} \right)^n \frac{1}{x-\lambda} \right]_{x=1} \tag{25}$$

Thus, the first few values of  $Q_n$  are:

$$Q_0 = \frac{1}{1-\lambda}, \quad Q_1 = -\frac{1}{(1-\lambda)^2}, \quad Q_2 = \frac{1+\lambda}{(1-\lambda)^3}, \quad Q_3 = -\frac{\lambda^2+4\lambda+1}{(1-\lambda)^4}, \dots \tag{26}$$

**Remark 2:**

The inversion of (19) is given by:

$$(-1)^n \frac{n!}{(1-\lambda)^{n+1}} = \sum_{j=0}^n Q_j S_n^{(j)} \quad (27)$$

in terms of Stirling numbers of the first kind [1, 2].

**Remark 3**

The inversion of (20) generates the Shirai-Sato identity [16, 18]:

$$\sum_{j=0}^n \frac{1-2^{j+1}}{j+1} B_{j+1} S_n^{(j)} = \frac{(-1)^n n!}{2^{n+1}}, \quad n \geq 0. \quad (28)$$

**Remark 4**

From (21) and (25):

$$B_{n+1} = \frac{n+1}{1-2^{n+1}} \left[ \left( x \frac{d}{dx} \right)^n \frac{1}{x+1} \right]_{x=1}. \quad (29)$$

**Remark 5**

The expression (11) is a binomial transform [19] if  $\lambda = -1$ , then (25) implies that  $Q_n = (-1)^n$  and thus (13) gives the well-known inversion property [2]:

$$F(n) = \sum_{k=0}^n \binom{n}{k} f(k) \iff f(n) = \sum_{k=0}^n (-1)^{n-k} \binom{n}{k} F(k). \quad (30)$$

**References**

- [1] H. M. Srivastava, J. Choi, *Zeta and q-zeta functions and associated series and integrals*, Elsevier, London (2012).
- [2] J. Quaintance, H. W. Gould, *Combinatorial identities for Stirling numbers*, World Scientific, Singapore (2016).
- [3] J. López-Bonilla, G. Sánchez-Meléndez, D. Vázquez-Álvarez, *Bernoulli and Euler numbers in terms of Stirling numbers of the second kind*, European J. Appl. Sci. 11, No. 4 (2019), pp. 6-7.
- [4] J. López-Bonilla, J. Morales, G. Ovando, *On the Namias and Tuentier identities for Bernoulli numbers*, African J. of Basic & Appl. Sci. 12, No. 1 (2020), pp. 15-17.
- [5] A. Grove, *An introduction to the Laplace transform and the Z-transform*, Prentice Hall, London (1991).
- [6] L. Debnath, D. Bhatta, *Integral transforms and their applications*, Chapman & Hall / CRC, New York (2007).
- [7] B. Patra, *An introduction to integral transforms*, CRC Press, Boca Raton, FL, USA (2018).
- [8] Zhi-Hong Sun, *A supplement to a binomial inversion formula*, J. Nanjing Univ. Math. Biquart. 12, No. 2 (1995), pp. 264-271.
- [9] J. Sándor, B. Crstici, *Handbook of number theory. II*, Kluwer Acad., Dordrecht, Netherlands (2004).
- [10] A. Lucas-Bravo, J. López-Bonilla, S. Vidal-Beltrán, *Sun's binomial inversion formula*, Comput. Appl. Math. Sci. 5, No. 1 (2020), pp. 8-11.
- [11] J. Stopple, *A primer of analytic number theory*, Cambridge University Press (2003).
- [12] J. López-Bonilla, J. Yaljí Montiel-Pérez, S. Vidal-Beltrán, *On the Melzak and Wilf identities*, The J. of Middle East and North Africa Sci. 3, No. 11 (2017), pp. 1-3.
- [13] T. Arakawa, T. Ibukiyama, M. Kaneko, *Bernoulli numbers and zeta functions*, Springer, Japan (2014).
- [14] D. V. Dolgy, D. S. Kim, J. Kwon, T. Kim, *Some identities of ordinary and degenerate Bernoulli numbers and polynomials*, Symmetry 11 (2019), p. 847-860.
- [15] K. N. Boyadzhiev, *Exponential polynomials, Stirling numbers and evaluation of some gamma integrals*, Abstract and Appl. Analysis 168672 (2009), pp. 1-18.

- [16] J. López-Bonilla, J. Yaljá Montiel-Pérez, A. Zaldívar-Sandoval, *Comments on some identities of Muthumalai, Vassilev, and Shirai-Sato*, BAOJ Phys. 2, No. 4 (2017), pp. 1-2.
- [17] R. Sivaraman, Laid Elkhiri, J. López-Bonilla, *Z-transform and Sun's binomial inversion formulae*, Bull. of Maths. and Statistics Res. 12 (2024), to appear.
- [18] S. Shirai, K. Sato, *Some identities involving Bernoulli and Stirling numbers*, J. of Number Theory 90, No. 1 (2001), pp. 130-142.
- [19] K. N. Boyadzhiev, *Notes on the binomial transform*, World Scientific, Singapore (2018).

